Installation Guide
L% AR

1251740S0

Clamps 3 E

Lower bracket

R

Upper bracket
SR

Installation Tools 235 T E.

3=

18 mm combination wrench(2PCS)
16 mm combination wrench(2PCS)
13mm combination wrench(2PCS)

PR T

Step 1: Assemble the bracket
B—L: HRTE

=3

Inclinometer il ffi{X

7N FIERE M8X30
Pk o8
FREEIE 8

MR RE M8

©)

Mf{8 35 B8 (Attachment list)

PR=N

Z Hname Y5 code L
Quantity

ISV

12513301
Scale arm upper

1

TR

12513302
Scale arm lower

1

R AT

. 12513303
Joint

Fet

Lock board 1 12513304

iXd

Lock board 2 12513305

[

; 12513306
Pipe separator

1242 Bolt GB/T5783 M12X180

1242 Bolt GB/T5783 M10X110

2[5 3L 7 S22 Bolt GB/T12
M10X25

N2 44 Bolt GB/T5783 M8X30

IZFENut GB/T6170 M12

D|O|O N | >

W BENut GB/T6170 M10

W RENut GB/T6170 M8

“F- 48] Flat washer GB/T97.1 12

25 PE| Spring washer GB/T93 12

“F- 44 Flat washer GB/T97.1 10

W 25 PB| Spring washer GB/T93 10

|||~

*F- 3 Bl Flat washer GB/T97.1 8

58| Spring washer GB/T93 8

Appearance of the actual antenna may differ from
the pictures. —— i LLSEWINHE

Follow the directions shown in the picture to install brackets.

LR P R el ESOR TSR

Step 2: Install the bracket
B REIRE

—

’ S| /VlRkE: M8x30

FHE 8
FEIAE 8
2R M8

Follow the directions shown
in the picture to install
brackets.

P A S

PR BIEBIRLL




Installation Guide

R 4R 125174050

Step 3: Install the antenna

B=H: REXREK

INAHIEREE M12X180 Pole diameter (mm)
P 12 BAFER
B 12 ® 50~d110

IR EE M12

Tighten all the nuts
before lifting the
antenna onto the
tower. Ensure the
bracket is fully
folded.

BT R I S e
7E0° sEAPrREIf
BUEPTAREL

Install the antenna on the pole as shown in the figure.

The same installation method applies to both upper and lower brackets.

T E TR 2 RGN 1, B SCRRTE 3O3R 23 77 U A

Check and tighten all the nuts when the installation is complete. The operating torques are given in the following
figures.

TG, BEREIHTRITEIBEL

The recommended

BRSE I

M8=20 N-m; M10=35N-m; M12=62 N-m

Step 4: Adjust the mechanical downtilt angle
FL: FTHRERIN T 0A

~
Method 1
JE SL12S5174
Precise reference Mounting plate Down tilt angle
f:liw})uf%racket (the Ll —F@jﬁlﬁiﬁ?ﬁ
2 =
actual scale prevails) LHEMRER B L(mm) 5
FRAIER (b
2 BE Ui%%ﬂﬁb 1100£5 0-20°
N\ After the adjustment is complete, tighten all the
Method 2 nuts. ‘
FvE2 MR TERGE, TR ISR,
Only qualified personnel are allowed to install the
antenna.
Precise measurement R TR R AR N TRE.
KT

Before adjustment, adjust the

inclinometer to the desired downtilt

angle. After adjustment, locate the bead

in the middle of the inclinometer.

VETTRT, U OO BT N U
L WS, AR ERIK T E )




	幻灯片编号 1
	幻灯片编号 2

